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l-asap o3oMruyynox ryxafi

Mon ron Yn csln 3acar 3axilpraa, Hyrar AoBcropn f H HoDK, ryyH vn y Aup4naru H ryxafi
xyynnnH 60 Ayraap 3yi^nufA+ 60.1 .1 , 66 gyraap syfAnufA+ 66. 1 , l-aspbtH ryxafi xyynunH 21
AYreop 3YilnvilH 21.3.2,33 gyraap 3ynnvfiH 33.1.1, 3axnpraaHbr epeHxrlh xyynuita 40
AYroop eyfinnftn 4O.2,43 Ayraap syhnvhH 43.1, MepeH cyMbrH npre.qt4fiH Teneener,.{ptrritu
XypnutH eenxnr Xlll xypangaaHbr 2022 onar 12 qyraap capbrH 12-nar e4prafiH 02 gyraap
rorroonbrr ryc ryc yHAocnoH 3AXI4PAMXIIAX nu:

1. 2023 oHbt rasap 3oxt4oH 6ailryynanrurn ryxafin xunuiln refleBnereeHg
rycrargcaHbt Aaryy uhHeep ra3ap o3oMuJr4x 6ahraa 3'l upreunil uwitr 1.4096ra 114096u21
ras pbr r xaBcpanraA Ayp.qcaHaa p o3eMuJyyncyrefi .

2. llJnnsep ra3ap e3oMtul4x 1aiaraa npregrefi ra3ap o3oMuJr4x opx syftn
6aranraaxnnr xvil)K, Yncutn 6yprreng 6yprrexrafir ahurvila l-aspurn xapt4nqaa, 6apunra,
xor 6ailryynanrbtH ra3ap (5.1-ansopnr), Yncurn 6yprrenrailH xenrec (S.MeHrensyn)-r ryc
ryc 3eBuleepcyrefi.

3. 3axnpraaHbt aKTbtr axnbrH 5 xoHornfin Aorop opx, aulrr coHr4pxon xeH4er4ex
6yfi erreege4 MoAor4ex, 6apuutDryyncaH 3axhpraaHbt aKrbtr xyeufin xeporr 6yp4yynenr
xuhx axnnnaxbtr ailurniln l-aepun xaphnqaa, 6apunra, xor 6ailryynanrsrn ra3ap
(6. l-ansoprr)-r yypsr 6onrocyrail.

4. Afinltrufin 3acar AaprbrH saxrparrrtxnftr oc 3eBlueepBen saxnpanaxufir
MoAorAceHeec xofittt 30 xonorriln 4orop ailurnhn 3acar Aapfa,q roMgon raprax ep>creft
6onoxurr gypgcyraft.

5. 3axnpanaxniln xopeDKhnroA xf,Hanr raBbx axrflflaxbr ahuruill 3acar AaprbtH
Taururu raspbtH Xyynu, epx syiln xonroc (M.Anranurarail)-g yypor 6onrocyrafi.
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